This is a tricky problem for me.

Cyclooctatetranene is not aromatic.  It is tub-shaped and undergoes addition reactions much like alkenes and dienes.  When this compound is treated with potassium metal, however, a reaction occurs.  The product molecule is flat and has all the properties of an aromatic compound.  Explain what has happened.
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I know that the cyclopentadienyl anion has all the same types of hydrogens.  Thus an H NMR is run only 1 line would be shown.  However I am not 100% sure what will happen on the C NMR.  How many types of carbon are there in this ion?  How many lines would one get if a C NMR was run?

I think but an not sure that there is only one type of carbon in the cyclopentadienyl anion so there would only be one line in the C NMR.  IS this correct?

